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Question 1.Select the related word/letters/numbers from the given alternatives:

et 2 foredt & @ dafFaa wrea/ 1aRl/we &t gigl
FINGERS : HAND :: ?: FEET

SR g s 7R
Options:
1) NAILS

g

2) TOES
AR Y St
3) ANKLE
[XCEI

4) HEELS
et

Correct Answer: TOES
&R & Sttt

Candidate Answer: TOES
AR St

Question 2.Select the related word/letters/numbers from the given alternatives:

A M Rreneul & @ TafFAa e/ 31erRi/ e & gy
OOQR: QQST :: UUWX: ?

Options:

1) WWYZ

2) YYWZ

3) ZZWY

4)YYZZ
Correct Answer: WWYZ
Candidate Answer: WWYZ

Question 3.Select the related word/letters/numbers from the given alternatives:

o0 Tt fyepent # @ GafAq wrea/s1erl/ e ot gy
342:453:831:?

Options:

1) 720

2) 740

3) 922

4) 942
Correct Answer: 942
Candidate Answer: 942
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For the following questions

Find the odd word/letters/number from the given
alternatives.
(A) Barbarous (B) Uncivilized (C) Gentle (D) Wild

Rrg g Rreredt & & e aree/wiva/ srer/gwar gRT)|
(A) TR (B) 319%T (C) hiHet (D) STfed!

Options:

1) A

2) B

3)C

4)D

Correct Answer: C
Candidate Answer: C

Question 5.

For the following questions



Find the odd word/letters/number from the given
alternatives.

f&q 7Tq faeheut & 9 faww 2rea/d¥e/ eR/n iU
(A) BCE (B) WXZ (C) MNP (D) GHK

Options:
1) A

2) B
3)C
4)D

Correct Answer: D
Candidate Answer: D

Question 6.

For the following questions

Find the odd word/letters/number pair from the given
alternatives.

feq 7Tq facheat & 9 faww <rea/det/ ster/9r | Ayl
(A) 48:134 (B) 40:110 (C) 18:48 (D) 30:80



Options:
1) A

2) B
3)C
4)D

Correct Answer: C
Candidate Answer: C

Question 7.Arrange the following words as per order in
the dictionary.

Fmfofd real ol TegaRlRT o o & ITAR Iafd hifSd |

1. Modicum 2. Modal 3. Mode 4. Modifier
Options:
1) 2,3,1,4

2) 2,34,
3)3,2,1,4

4) 3,2,4,1
Correct Answer: 2,3,1,4
Candidate Answer: 2,3,1,4



Question 8.In the given series one term is missing.
Choose the correct alternative from the given ones that
will complete the series.

f&Q 7Y 31ehH | ek UG o 81 1T Y kel & ° a8 el
faehed T ST STIchA ol T R

XBC,WFG,VJK,?
Options:
1) XGH

2) UNO
3) YFG

4) WKL
Correct Answer: UNO
Candidate Answer: UNO

Question 9.Which number will complete the series?

Rrfafea & @ Ry g Riged! & & g8 T8 Rigrea gy ot Siof
&) qof & 2

0,1,4,15,2,325,1956
Options:
1) 60



4) 80
Correct Answer: 64
Candidate Answer: [ NOT ANSWERED |

Question 10.Pointing to a lady in a photograph, Meera
said, "Her father's only son's wife is my mother-in-law".
How is Meera's husband related to that lady in the photo?

whict | fohdl Afge ol fem@rd gu HRT A gl “Iqah fUdT o Teram
O <hl Uil #-0 Grg-Hi 8" | #RT o ufd <Al el H fears 18 Afgan
g T G- g ?

Options:

1) Nephew

YtsIT

2) Uncle

3

Son

2w

Father

f

Correct Answer: Nephew

:

Candidate Answer: Nephew



RIS

Question 11.Five people AB,C,D and E are sitting in a row
facing you such that D is on the left of C and B is on the
right of E. Ais on the right of C and B is on the left of D. If
E occupies a corner position, then whose sitting in the
centre?

Uig cafwh A,B,C,D 3R E 31Tqch T8 Hg Hech Uch Ufth | 39
ghR d& & foh D, C oh I} 3R € 3R B,E sh grdf 3R €1 A, Cah
&t 3R € 81k B, D o aIRt 3R g1 afe E <hi- H ofaT g, al Uik <k
A paSorg?

Options:

1) A

2) B
3)C

4)D
Correct Answer: D
Candidate Answer: D

Question 12.From the given alternative words, select the
word which cannot be formed using the letters of the
given word:

ffeliRad faehetl 7 I ag e A S 8T 1T Tec <h 37&RT ol



UINT hch gl ST SIT YehdT &:
INTROSPECTION

Options:
1) INSPECTION

2) SCOPE
3) SECTOR

4) ROUTE
Correct Answer: ROUTE
Candidate Answer: ROUTE

Question 13.1f I=9 and SLIP=56, then FALL= ?

gfe =9 3R SLIP=56 &, af FALL= ?

Options:
1) 21

4) 51
Correct Answer: 31

Candidate Answer: 31



Questlon 14. If + means = means 'x','=' means '+
and 'x' means '-', then 36><12+4 6+2-3= ?

afe '+ A § '+, - R § X, ' BT A g+ SR X T 31
g'-' & dt 36x12+4+6+2-3=?

Options:

1) 2

2)61/2
3)18

4) 42
Correct Answer: 42
Candidate Answer: 42

Question 15.Some equations have been solved on the
basis of a certain pattern. Find the correct answer for the
unsolved equation on that basis.

feRd} ToTTell o HATYR WR s HIRUT gl fohd T 8| fached ok
U H &8 T 9R IO 7 T g A fohd T GHIRRoT 1 IR
fefsra

8x/x6=765
5x3x2=421
Ox6x4="



Options:
1) 583

2) 853
3) 841

4) 481
Correct Answer: 853
Candidate Answer: [ NOT ANSWERED |

Question 16.Find the missing term in the following
guestion:-

f&Q 7T IR # T e =1 A1 S|

6 15 20
8 4 S
3 3 20
51 65 ?

Options:
1) 56

2) 12
3) 120

4) 51
Correct Answer: 120

Candidate Answer: 120



Question 17.Ajit, starting from a fixed point, goes 10 m
towards North and then after turning to his right he goes
10 m. Then he goes 5,10 and 10 meters after turning to
his left each time. How far is he from his starting point?

3rsild Teh AR fovg & et Y oheh IR bl 3R 10 HIeR
TeIdT B, TR S/t 3R e 10 HieR Iatdr g1 fhk 98 g IR
31U It TR Jghz 5,10 3R 10 HIR Teldl g1 98 39 o< ¥
fehaT R 8 STl °§ I et -1 TR fohar 1 2

Options:

1)15m

15 .

2) 10 m

10 .

3)5m

5 .

4)3m

34l

Correct Answer: 5 m

5 HI.

Candidate Answer: 10 m

10 .

Question 18.Consider the given statement/s to be true
and decide which of the given conclusions/assumptions
can definitely be drawn from the given statement.



Statement: Honesty is the best policy.
Conclusion

I: All should be honest.

Il: Only some people should be honest.

Frafafad uyr & uah a1 3 a<hed e T ¢, [Sigeh ot &f fHsepnl/
A=A, | 3R || fAepret T &1 31muahl fa=R &1 & foh a<heg O
& dTg I8 rH=ad: e1d / 91 4 {99 udia giar g1 smuen! Aoy
AT g Toh €U 7T a<heg & O si9-a1 fAfgYa =u 3 g8t fAshu/
AT FIehTdT STT gepdT 8 ?

Y ; |-SHAMER Y 31! HIfd 8l

Freeqy:

|- T&ehl SHMGR g1 ATfeq | fAthy:

|I-heleT p® <IN ohl SHMGR giHT A8l

Options:

1) Only conclusion | follows

chad ey | T8l g

2) Only conclusion Il follows

chad fer || Igl gl

3) Both conclusion | and conclusion Il follow

freent | ok fAsend 11 € 9t &1

4) Neither conclusion I nor conclusion Il follows

9 fAshy | g8t g ik 7 fsend ||

Correct Answer: Only conclusion | follows

chadl sy | I8l 2|

Candidate Answer: Only conclusion | follows

chadl sy | 98l 8|




Question 19.Find the number of triangles in the figure.

feq g g R | fohd= Rer 8 2

\
J \
J
FiV.A RN
‘f b
/4 .,
| e

ey

y e

Options:
1) 14

4) 20
Correct Answer: 15
Candidate Answer: 20

Question 20.Which one of the following diagram
represent the relationship among Parliament, Council of
Ministers and Prime Minister?

Fefefad & O F-g71 3 I4c, 13 uRug 3R UU=HAT T
ST e SRIdT & ?

Options:



Pl

T
©
at

Correct Answer:

Candidate Answer:



Question 21.In question no. 21, which answer will
complete the pattern in the question figure?

hIF-TT IR 3MTepld U HTRfd & UfAET ohl QT Rt ?

|
7]
N L

AN

Options:




Question 22.From the given answer figures, select the one
in which the question figure is hidden/embedded.

&Y 118 IR SR | ¥ IR 3Mepld ot AT e v simepfa
ffga gl




Options:




Candidate Answer:

Question 23.A piece of paper is folded and cut as shown
below in the question figures. From the given answer
figures, indicate how it will appear when opened.

TR 3Tl B [G@TY STTHR BRTST ol ATSHY dhle aUT WieA
& dT¢ ag fohg IR STIapfa ST feams & 2

1
IFEEL SRR N
T T T
-t i ${ | [Hl — e N 4
I O | M/ NI AT




Correct Answer:

TEENGE
| .| |= | = -

Candidate Answer: [ NOT ANSWERED ]

Question 24.If a mirror is placed on the line MN, then
which of the answer figures is the right image of the given
figure?

afg gah gUor Bl MIN a1 R 3T STt &) 718 <R Sipfaat # §
1T SATepfd U STpfd T Tet ufafaw ghift 2

NNy




Options:

1)

Correct Answer:

i .
O

Candidate Answer:



Question 25.1In this question, the sets of humbers given in
the alternatives are represented. The columns and rows
of Matrix | are numbered from 0 to 4 and that of Matrix Il
are numbered from 5 to 9. A letter from these matrices
can be represented first by its row and next by its column,
e.g., A can be represented by 03,55, etc., and 'P’' can be
represented by 10, 44, etc. Similarly you have to identify
the set for the word '‘BOAT".

Qch TG chael Uch SEAT-THg gRT &A1 7T 8, S foh faehett o
T fohelt uap & fear mar 81 faered & Q7Y Te a9 sieri s
It gIRT &=1fQ 7T &, S o i feg g & sl & 81 S | &
TR A T 0G4 R Mg I H 5T 9N TS 813
Tl ¥ Teh &R ! Ugel IYh! Uzh 3R &1¢ H TFY TE&AT gRI
AT ST YendT g1 31807 & frw ‘A apt 03, 55 311fe grRT eifar
STT GehdT & dAT'P ' &l 10, 44 31TfE gIRT &A1 ST ehdT & | 39T
dRg ¥ 3ATUehl AT §U <M 'BOAT' o folT HHg ol Uga=-1 8|




Options:
1) 67,86,55,40
2) 32,86,77,68
3) 78,33,55,44

4) 67,86,31,40
Correct Answer: 67,86,55,40
Candidate Answer: 67,86,55,40

Question 26.Saving is that portion of money income that
IS .....

Iad 37 A AT ag U8 O ...
Options:

1) spent for development of Industries
I h faerrg o folu @ fohar SiTaT 8|

2) not spent on consumption

T IUMIT R @< Agt fhdT ST

3) spent on health and education

S Tareer g fRrem R W fohar Sirdr 8

4) spent for consumer durables



oI Iuyterar I (feehrss) R @ fohar Sirar 8

Correct Answer: not spent on consumption

G IuahT R @< A8t fohar ST

Candidate Answer: not spent on consumption

G IuahT R @ Agt fopar Srarni

Question 27.In which field did Amartya Sen win the Nobel
Prize ?

SH T 7 fohe &7 # Al [RERR ST 8 ?

Options:
1) Micro Economics
G&H UM

2) Welfare Economics
e TOT ST

3) Economic Growth Model

3fden faerr Ated

4) Input-Output Model

-3 Ared

Correct Answer: Welfare Economics
hgTuT AT

Candidate Answer: Micro Economics
g&H AT

Question 28.Raja Ravi Varma was a great painter of which
of the following ?



ISTT A AT hal oh A R & 2

Options:
1) Bengal

o[iTet

2) Bihar
fagR

3) Punjab

UGG
4) Kerala
hoT

Correct Answer: Kerala

hdd
Candidate Answer: [ NOT ANSWERED |

Question 29.Who was the founder of the Theosophical
society of India?

URd i fI3naiftheret TS & AU i A/At 2
Options:

1) Annie Besant

oA s

2) Womesh Chandra Bannerjee

CIERISEACE |

3) Ram Prasad Bismil

¥ gTe fefee

4) Subhash Chandra Bose



gAY I d19
Correct Answer: Annie Besant

Ut s

Candidate Answer: Annie Besant

Ut s

Question 30.Who coined the Chipko slogan "Ecology is
Permanent Economy"?

fRroept ART "UTRIATA <kl TRt sredfegazer g " foha= e o1 ?
Options:

1) Chan Prasad Bhatt

T TG 9

2) Sundarlal Bahuguna

Jagedlel ol
3) Shayam Prasad Bahuguna

YTH UHTE SgIom

4) Bachni Devi
et 3t

Correct Answer: Sundarlal Bahuguna

gaxedled dgTum
Candidate Answer: [ NOT ANSWERED |

Question 31.Which of the following is Study of fossils ?

SHary (i) & 31ed= ot T Thed 872
Options:



1) Ethology
TR AT

2) Etiology

3) Anthropology
HI4d

4) Palaeontology
Strared fasm=

Correct Answer: Palaeontology

Siiared fagm=

Candidate Answer: Palaeontology

Sitard fagm=

Options:

1) must be same

A g Tnfed

2) must be different
fA=1-f9=1 g =ied

3) need not be same
YA g 31Tk ol § |
4) need not be different

I =1-f9—1 41T 31Tagah J8l & |

Correct Answer: must be same

qu gi= arfed



Candidate Answer: must be same

g9 gi= arfed

Question 33.Which of the following is the operation
executed on data stored in registers?

et & Ifua Srer IR fAsaiied SifoRe™ &t &1 Shed 872
Options:

1) Bit-operation

fere-3ifaRe™

2) Macro-operation

Hehl-TURRA

3) Micro-operation

HTSehI-SATURRA

4) Byte-operation

qT3e-AATIRRM

Correct Answer: Micro-operation
HT5chi-31TTRRM

Candidate Answer: Bit-operation

fore-3taRaE

Question 34.Sour taste of lemon is due to the presence of
which of the following ?

=g o1 WeT WiE, fhaeh! HisEit & PROUTBIAT & ?
Options:
1) Citric acid



“él'l‘sfﬁ?ﬁ‘;f@l?s’
2) Acetic acid

Q@rﬁmqﬁe

3) Oxalic acid

3fichdfeich TS

4) Formic acid

thitHeh UIES

Correct Answer: Citric acid
arsfieen Ufds

Candidate Answer: Citric acid

SIEEEAYE

Question 35.Which State has the longest coastline?

fohg 5T § oY oIl qed@n @ ?
Options:

1) Andhra Pradesh

T8I UG

2) Maharashtra

HE RIS

3) Gujarat

4) Karnataka

chelch

Correct Answer: Gujarat

eiId

Candidate Answer: Gujarat



HSNEG)

Question 36.Which among the following cities in India is
not located in Golden Quadrilateral Road Network?

HRA H AR & 9 oplH-971 a8 Wot ag s Anf Heqesh |
asig?

Options:

1) Kolkata

chicTenTd]

2) Mumbai

A

3) New Delhi
3 faeett
4) Chandigarh
JUSHIG

Correct Answer: Chandigarh

JUSHIG

Candidate Answer: New Delhi

g feeett

Question 37.Which is the first Indian State to go wholly
organic ?

QUIdAT chlsli=ch (STTT-eh) T dTell UUH HRA IS hiH-AT 8 ?

Options:
1) Meghalaya



HYTeg

2) Sikkim
GIEET]

3) Manipur

4) Assam
STHH

Correct Answer: Sikkim

afaepre
Candidate Answer: [ NOT ANSWERED |

Question 38.What is the role of "Ombudsman” in a bank?

och H 'STASGHH' chl R YfHhT1 8 ?

Options:

1) To provide quality and speedy redressal of grievances
of customers.

UTgeh! ch! fRARTIAT AT Ichte SR gd IR T

2) To provide suggestions for innovative schemes in the
banks.

dopt & SrfHq T3t o felg geima &

3) To inspect the internal working of the branches.

T3} b T Reh hTH chToT chl [AI&TOT AT

4) To monitor the poverty alleviation programmes
undertaken by or implemented by the bank.

deh gRT % fohg 13 a1 fepanf=ard TRIs I=e shrdendt
HifReX AT




Correct Answer: To provide quality and speedy redressal
of grievances of customers.

UTgeh! <h! fRARTIAT AT Ichte SR gd RO T

Candidate Answer: To provide quality and speedy
redressal of grievances of customers.

UTgenl ch! fRARTI! hl Ichte STR g IR BT

Question 39.Which of the following schedules contains
special provisions for the administration of tribal areas in
the four north-eastern states of Assam, Meghalaya,
Tripura and Mizoram

ffefea 7 @ forg gt | sraH, durerd, AR ok fAsika &
IR YdicaR Al H STSIdg &7 oh URATE ol fAiY Uraer g ?
Options:

1) First schedule

U ST

2) Second schedule

iﬂﬂa@?ﬂ

3) Third schedule

et St

4) Sixth schedule

B&dl gl

Corrgct Answer: Sixth schedule
Badi gt

Candidate Answer: [ NOT ANSWERED |




Question 40.Who appoints the members of the State
Public Service Commission ?

I eiteh QAT AT 3 Te i R di o & 2
Options:

1) Chief Minister

g "t

2) Governor

YUl

3) Chief Justice

g e

4) Vice President

SURTSCUfd

Correct Answer: Governor
JIsUUTe]

Candidate Answer: [ NOT ANSWERED |

Question 41.Who was the first Indian to be elected as the
leader of the Communist International?

dg UYUH HRAT hid AT FE hrgfAe §e3ARM ol AdT [dii<a
fehar T U1 ?

Options:
1) Jawaharlal Nehru
STaTER ATl g%

2) P.C. Joshi




ot ot Sheft

3) Sardar Vallabhai Patel
TRER Jeet™ T8 ued

4) M.N Roy

TH.UA.3

Correct Answer: M.N Roy

UH.TA.3T

Candidate Answer: [ NOT ANSWERED |

Question 42.What is the source of natural energy of the
hot springs at Manikaran in Himachal Pradesh ?

fgHTIeT Ue=T H HiUIeh0T H TTH RAT chl UTepideh Sl <hl Hld T
g 7?

Options:

1) Geothermal Energy

‘liT-ITCﬂ'JWf

2) Biomass Energy

IRIHY SHoll

3) Thermal Energy
drg it

4) Hydro Energy
STl ol

Correct Answer: Geothermal Energy

AT St

Candidate Answer: [ NOT ANSWERED |



Question 43.Which of the following is a Dominant
Autosomal Disorder ?

ffeiRad & 9 o el R Srege=eT (Sifaq= sl
feqamel) g ?
Options:
1) Albinism
gfeafasw
2) Cystic Fibrosis
T wgsifiE

3) Phenyl Ketorunia
fOR-ITSeT chatestaT

4) Alzheimer's Disease
STASITZAR T

Correct Answer: Alzheimer's Disease
3TeTITS AR T

Candidate Answer: [ NOT ANSWERED |

Question 44.Glycol is used to manufacture which of the
following ?

TATSehtel bl U fohgah Fmfor & fohar Srar & 2

Options:

1) Nylon
EIESIE

2) Artificial silk




5w R

3) Terylene
et

4) Rubber
dS

Correct Answer: Terylene

R
Candidate Answer: [ NOT ANSWERED |

Question 45.The movement inside the Earth's crust is
studied by which of the following ?

g hl O oh HIaR hl geldel T 31T fohdeh gRT fohdT ST
g7

Options:

1) Geology

-fagm=

2) Seismology

Yehty fag=

3) Plate tectonics

wie faadiaeh!
4) Pantograph
RIS SEC|

(U=CHITh)

Correct Answer: Seismology

Yhr fa7H



Candidate Answer: Seismology

ehr] fasi

Question 46."Lona" is related to which game?

AT fhg @ @ gEg & ?
Options:

1) Kho Kho

G-t

2) Kabbaddi

heIg!

3) Lawn Tennis
SIGRAEDS|
4) Badminton

Seffa

Correct Answer: Kabbaddi

Hagl

Candidate Answer: [ NOT ANSWERED |

Question 47.Ten thaats or scales, belong to which system
of music?

g SIS T WY, T hl fohg UoTTedt O gwa-ad & ?

Options:
1) Hmdustanl Music

2) Folk Music



ofteh EIftd

3) Chinese Music
T Gt

4) Western Music
qrAT iild

Correct Answer: Hindustani Music
? g ]

Candidate Answer: [ NOT ANSWERED |

Question 48.Which one among the following components
can not be developed within an "integrated circuit"?

ffeiRad & 9§ ohlF-1 Uk Tehlchd URUY & HIaR gl &1 Tehd
g7

Options:

1) Diode

SIS

2) Triode

RIS

3) Transformer
ST
4) Transistor

Al Eiekd

A

Correct Answer: Transformer

Candidate Answer: Transformer



AL LR T

A

Question 49.What is the transplantation of graft between
genetically identical individuals ?

T RIh TG & A afhdl & T TARIIUT St R—IT hagd 8 ?

Options:

1) Autograft
SATCThe

2) Isograft

3) Allograft

4) Xenograft

Correct Answer: Isograft

ITSIUTHhE
Candidate Answer: [ NOT ANSWERED |

Question 50.Yogeshwar Dutt is associated with which
sport?

iR aed v Qe @ R £ 7

Options:
1) Discus Throw

fe%ra
2) Wrestling



et

3) Shooting

ERIEKCIN]]

4) Pole Vault

Oiel dlee

Correct Answer: Wrestling
el

Candidate Answer: Wrestling

gt

Question 51.Number of composite numbers lying
between 67 and 101 is

67 3R 101 < &9 feha+l Y =T 8 ?

Options:
1) 27

4) 23
Correct Answer: 27/
Candidate Answer: [ NOT ANSWERED |

Question 52.A dealer allows a discount of 15%. A
customer pays an amount of Rs. 318.75 for an article. At
what price is the article listed?



Teh fachdTl 15% i Be &dT g1 i3 TTgeh fehel! a¥d o foTg Rs.
318.75 chi IR 37eT 3l g | a] bl Gt hiAd ATd hifed ?

Options:
1) Rs. 366.50

2) Rs. 375.00
3) Rs. 350.00

4) Rs. 431.25
Correct Answer: Rs. 375.00
Candidate Answer: Rs. 375.00

Question 53.The reciprocals of the squares of the
numbers 1% and 1% are in the ratio

1% 3R 1% ok T oh Yook fohd Srqurd & giit ?
Options:
1) 64 : 81

2)8:9
3) 81: 64

4)9:8

Correct Answer: 64 : 81
Candidate Answer: 81 : 64



Question 54.The average of 15 numbers is 7. If the
average of the first 8 numbers is 6.5 and the average of
the last 8 numbers is 8.5 then middle number is

15 G137 ot 379d 7 81 afe Ugelt 8 TRAT3IT bl 31d 6.5 &t
3R 3ifdH 8 TRaTafi <ht 31 gd 8.5 g df sy dTeft I<=AT FATd
hifod ?

Options:

1) 10

4) 15
Correct Answer: 15
Candidate Answer: 15

Question 55.A man bought 25 crates of oranges for Rs.
10,000. He lost 5 crates. In order to earn a total profit of
25% of the total cost, he would have to sell each of the
remaining crates at

foretY cafth & Taxl oh 25 she Rs. 10000 & @ | 396 T 5 the
Wt T | 31 I8 AW che & T U che fohg <@t &= foh Igant
el TTNTd UR 25% T <114 8l ?




Options:
1) Rs.650

2) Rs. 625
3) Rs. 600

4) Rs. 575
Correct Answer: Rs. 625
Candidate Answer: Rs. 625

Question 56.What is the difference between 0.6 and
0.6%?

0.6 3R 0.6% ch &I AT R & ?

Options:
1) 5.94

2) 0.594

Correct Answer: 0.594
Candidate Answer: 0.594

Question 57.A man travels 3%th of the distance of his
journey by bus, %th by Rickshaw and 2 km on foot. The



total distance travelled by the man is

s cafch oot g h 3/4 T I |, 1/6 Ra—m § ik 2
fROHI0 dgat 9T ohdT g1 39 <af<h A el fohasil T i ?

Options:
1) 12 km

2) 18 km
3) 20 km

4) 24 km
Correct Answer: 24 km

Candidate Answer: 24 km

Question 58.The compound interest on Rs. 1000 at 10%
per annum for 3 years in (Rs.) is

3 a9 h felT 10% aftieh G2 IR Rs. 1000 WR Aehdfg TS T
g ?

Options:
1) Rs. 1331

2) Rs. 331
3) Rs. 300

4) Rs. 1300



Correct Answer: Rs. 331
Candidate Answer: Rs. 331

Question 59.

gfev3=1.732gat
“5" T JIH T hifoid ?

Options:
1) 7.169

2) 7.196
3) 5.198

4) 7.296
Correct Answer: /.196
Candidate Answer: 7.196

Question 60.

Options:
1) -2



2) 0
3) 2

4) 4
Correct Answer: 0
Candidate Answer: 0

Question 61.In AABC, the medians AD and BE meet at G.
The ratio of the areas of ABDG and the quadrilateral
GDCE is

AABC T #r1feZichtd AD 3fR BE TRTR G IR fAeidl 81 ABDG 3R
FHIJHST GDCE o &3thell <hT SUTd HTd hiford ?

Options:
1)1:2

4)3:4

Correct Answer: 1:2
Candidate Answer: [ NOT ANSWERED |

Question 62.



gf PQRSTU Ueh Tehid Yl 8, dd £P+2R+.2T fehdich sRTeR
g 2

Options:

1) 720°

2) 360°

3) 540°

4) 180°

Correct Answer: 360°
Candidate Answer: [ NOT ANSWERED |

Question 63.

Options:
1) 30°

2) 45°
3) 60°

4) 75°

Correct Answer: 30°
Candidate Answer: 30°



Question 64.Sashi can do a piece of work in 20 days.
Tanya is 25% more efficient than Sashi. The number of
days taken by Tanya to do the same piece of work is:

TfRY feheft & apt 20 f&T & T Fepd! 81 AT 3T 25% 31fdeh
&l g1 Il shrH ar=T foha fet | qrr et 2

Options:

1)15

4) 25
Correct Answer: 16
Candidate Answer: 16

Question 65.

Options:
1)0

2) -1



3) 1

4) ab
Correct Answer: -1
Candidate Answer: -1

Question 66.

1 S iz | _
Iig Zx—a—S,x-.—"D grar x e e
2 & Jd A hifa ?

Options:
1)

19

31
4

Correct Answer:
19
4

Candidate Answer:

27
4



Question 67.XYZ is aright angled triangle and »2Y =90°. If

XY =2.5cm and YZ = 6 cm then the circumradius of
AXYZ is

XYZ Qb GHehIUT AT & 3iR2Y = 90° g1 afe XY = 2.5 Q4.
3R YZ = 6 Q.41 8 af AXYZ bt uRizsar Id SIS ?
Options:

1) 6.5 cm

6.5 3.4

2) 3.25cm
3.25 9.4,

3)3cm
3 a4t

4) 2.5 cm
2.5 9.4l

Correct Answer: 3.25cm

3.25 4.1
Candidate Answer: [ NOT ANSWERED |

Question 68.

AABC H ~B = 5.C 3iR £A = 32C & dl ~C <hl AT ATd hiford
?

Options:
1) 45°



2) 30°
3) 20°

4) 5°
Correct Answer: 20°
Candidate Answer: 20°

Question 69.The length of shadow of a tower is v3 times
that of its length. The angle of elevation of the sun is

ferdt HIMR hl UReTS hl oIl HIMR <hl ovalTs & v3 AT 81 g
hl I~1T 10T T hifoid ?

Options:

1) 45°

2) 30°
3) 60°

4) none

Correct Answer: 30°
Candidate Answer: 30°

Question /0.



Options:
1)4:1

4)2:1
Correct Answer: 1:4
Candidate Answer: 1:4

Question /1.

Options:
1) 1

2) 3
3) 2

4) V2



Correct Answer: 2
Candidate Answer: 2

Question 72.Student strength of a college in Arts, Science
and Commerce from 2004 - 2005 to 2007 - 2008 session
are shown in the following bar graph. Study the graph and
answer the questions that follow.

Fefoifad IR 7% & av 2004-2005 & 2007-2008 & da <
g7 ¥ fohdt spferst & faenffay Y eperr, fagm ok arforsy fawat A
IR ST Tt 81 UTh ol 3redd shifoig SR fAm=fefad usatf &
IR <ifoig ?

The ratio of average number of students in Science to the
average number of students in Commerce is

o= | foentdat Y eiaa Tt et arforsy fawa | faentday &
I =T 9 SUTd AT hiford 2



Options:
1)10:7

2)7:4
3)12:5

4) 48 : 35
Correct Answer: /7 : 4
Candidate Answer: 7 : 4

Question 73.Student strength of a college in Arts, Science
and Commerce from 2004 - 2005 to 2007 - 2008 session
are shown in the following bar graph. Study the graph and
answer the questions that follow.

FEfefEd IR a1 7 99 2004-2005 @ 2007-2008 < dh &
97 § fohdt spieist o faantdat 6 ererr, fagm ok arforsy fawat o
GReT SRATT T 81 TTth hl 31T hifoig 3R fAfeiRad usAl &
IR AT ?



The increase in the number of Arts students in 2007-2008
session over that in 2005-2006 session is

a¥ 2005-2006 o I <hl 319 a8 2007-2008 & 9 H chedl h
Renfefat i give & R wfasra Y 9fg g8 2

Options:

1) 25%

2) 21.42%

3) 27.27%

4) 37.5%

Correct Answer: 27.27%

Candidate Answer: 27.27%

Question 74.Student strength of a college in Arts, Science
and Commerce from 2004 - 2005 to 2007 - 2008 session
are shown in the following bar graph. Study the graph and
answer the questions that follow.

AEfefead aR a1 7 99 2004-2005 @ 2007-2008 & dh &
I3 H fordt epfetst & feenfdat &t erett, fam= ofik arforsy faway &



IR ST Tt 81 UTh ol 3rede shifog SR fAm=fefad usat &
IR ST ?

Approximate percentage of students in Science stream
during the session 2006-2007 is

gy 2006-2007 & T3 H faz= fawg # faenfat st gwear &
gfasrd A1 hiferd 2

Options:

1) 42.31%

2) 40.91%

3) 41.26%

4) 31.42%

Correct Answer: 42.31%
Candidate Answer: [ NOT ANSWERED |

Question 75.Student strength of a college in Arts, Science
and Commerce from 2004 - 2005 to 2007 - 2008 session
are shown in the following bar graph. Study the graph and
answer the questions that follow.



fAeferfad IR g% | a9 2004-2005 T 2007-2008 o deh
97 d fohdt apiferst A faenfart &t eper, fasm ok arforsy fawat o
IR ST T 81 UTh ol 3regde chitoiu SR fAfefad usat &
IR AT ?

Percentage increase in total number of students in 2007 -
2008 session over that in 2004 - 2005 session is
approximately

a¥ 2004-2005 o 9 <hl 31 a¥ 2007-2008 & 91 |
faenffat <t et T # gfeg ot ufasra w1d RIS 2
Options:

1) 29.71

2) 25.65

3) 10.56

4) 20.83



Correct Answer: 20.83
Candidate Answer: 20.83

Question 76.In the following question, out of the four
alternatives, choose the word which best expresses the
meaning of the given word and click the button
corresponding to it.

INDOLENT
Options:

1) LAZY

2) EXPENSIVE
3) ACTIVE

4) HAPPY

Correct Answer: LAZY
Candidate Answer: [ NOT ANSWERED |

Question 77.In the following question, out of the four
alternatives, choose the word which is opposite in
meaning to the given word and click the button
corresponding to it.

INSOLENT

Options:

1) SCRUPULOUS
2) EMOLIENT

3) COURTEOUS
4) LAZY



Correct Answer: COURTEQOUS
Candidate Answer: [ NOT ANSWERED |

Question 78.Four words are given, out of which only one
word is spelt correctly. Choose the correctly spelt word
and click the button corresponding to it.

Options:

1) Beneficiary

2) Benificiary

3) Beneficeary

4) Benefeciary

Correct Answer: Beneficiary
Candidate Answer: Beneficiary

Question 79.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

Had | been (A) / in my brother's position (B) / | would have
refused the offer. (C) / No Error (D)

Options:

1) A

2) B

3)C

4)D

Correct Answer: D



Candidate Answer: D

Question 80.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

His parents usually spent (A) / their summer in Ooty (B) /
but this year they are spending it in Darjeeling. (C) / No
Error (D)

Options:

1) A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 81.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

He lost heart (A) / because he could not cope up with (B)
/ the difficulties in life. (C) / No Error (D)

Options:



28N
OO W>X>

Correct Answer: B
Candidate Answer: [ NOT ANSWERED |

Question 82.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

Due to heavy rains, the match was called ___.
Options:

1) of

2) off
3) down
4) out

Correct Answer: off
Candidate Answer: off

Question 83.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.



The Management gave us permissionto _____ with the
new curriculum.

Options:

1) go fixed

2) go about

3) go ahead

4) go around

Correct Answer: go ahead
Candidate Answer: go ahead

Question 84.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

Mount Everest has earned the
the world's highest garbage dump.

distinction of being

Options:

1) marked

2) disgusting

3) dubious

4) dismal

Correct Answer: dubious

Candidate Answer: [ NOT ANSWERED |

Question 85.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which



best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

As daft as a brush
Options:

1) Extremely silly

2) Artistically inclined
3) Completely clean
4) Utterly selfish

Correct Answer: Extremely silly
Candidate Answer: [ NOT ANSWERED |

Question 86.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

In a nutshell

Options:

1) In translation

2) A decorative language
3) A well-packed parcel
4) Briefly and concisely

Correct Answer: Briefly and concisely
Candidate Answer: A well-packed parcel

Question 87.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which



best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

Strain every nerve
Options:

1) Try all tricks

2) Work very hard

3) Beg before others

4) Spend a large amount

Correct Answer: Work very hard
Candidate Answer: Work very hard

Question 88.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

Proposition made as a basis for reasoning without the
assumption of its truth

Options:

1) Hypertext

2) Hypocrisy

3) Hyperbole

4) Hypothesis

Correct Answer: Hypothesis
Candidate Answer: Hypothesis

Question 89.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences



and click the button corresponding to it.

Indifference to pleasure and pain
Options:

1) Perseverance

2) Tolerance

3) Stoicism

4) Radicalism

Correct Answer: Stoicism

Candidate Answer: Stoicism

Question 90.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

No longer a child, but not yet an adult

Options:

1) Youngster
2) Adolescent
3) Juvenile

4) Yokel

Correct Answer: Adolescent
Candidate Answer: Juvenile

Question 91.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In



case no improvement is needed, click the button
corresponding to "No improvement”.

| bought four dozen of mangoes.
Options:

1) dozens of mango

2) dozens of mangoes

3) dozen mangoes

4) No improvement

Correct Answer: dozen mangoes
Candidate Answer: [ NOT ANSWERED |

Question 92.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

| have still to meet a person who is perfectly satisfied with
his job.

Options:

1) would meet

2) am yet to meet
3) might still meet
4) No improvement

Correct Answer: am yet to meet
Candidate Answer: am yet to meet



Question 93.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

Would you find one absent, please don't forget to leave a
message behind.

Options:

1) As you find

2) Should you find

3) Unless you find

4) No improvement

Correct Answer: Should you find
Candidate Answer: [ NOT ANSWERED |

Question 94.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

Kim is too impatient with tolerating any delay.
Options:

1) at tolerating

2) for tolerating




3) to tolerate
4) No improvement

Correct Answer: to tolerate
Candidate Answer: to tolerate

Question 95.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

| purposely did that with a view to offend her.
Options:

1) with a view of offending her

2) with a view that | offend her

3) with a view to offending her

4) No improvement

Correct Answer: with a view to offending her
Candidate Answer: with a view of offending her

Question 96.A passage is given with 5 questions following
it. Read the passage carefully and choose the best answer
to each question out of the four alternatives and click the
button corresponding to it.

The antigen-antibody immunological reaction is used to



be regarded as typical of immunological responses.
Antibodies are proteins synthesized by specialized cells
called plasma cells, which are formed by lymphocytes
(cells from the lymph system) when an antigen, a
substance foreign to an organism's body, comes in
contact with lymphocytes. Two important manifestations
of antigen-antibody immunity are lysis, the rapid physical
rupture of antigenic cells and the liberation of their
contents into the surrounding medium, and phagocytosis,
a process in which antigenic particles are engulfed by and
very often digested by macrophages and polymorphs. The
process of lysis is executed by a complex and unstable
blood constituent known as complement, which will not
work unless it is activated by a specific antibody; the
process of phagocytosis is greatly facilitated when the
particles to be engulfed are coated by a specific antibody
directed against them.

One of the two important manifestations of antigen-
antibody immunity is lysis while the other is
Options:

1) lymphocytes

2) plasma

3) antigenic cells

4) phagocytosis

Correct Answer: phagocytosis

Candidate Answer: phagocytosis

Question 97.A passage is given with 5 questions following



it. Read the passage carefully and choose the best answer
to each question out of the four alternatives and click the
button corresponding to it.

The antigen-antibody immunological reaction is used to
be regarded as typical of immunological responses.
Antibodies are proteins synthesized by specialized cells
called plasma cells, which are formed by lymphocytes
(cells from the lymph system) when an antigen, a
substance foreign to an organism's body, comes in
contact with lymphocytes. Two important manifestations
of antigen-antibody immunity are lysis, the rapid physical
rupture of antigenic cells and the liberation of their
contents into the surrounding medium, and phagocytosis,
a process in which antigenic particles are engulfed by and
very often digested by macrophages and polymorphs. The
process of lysis is executed by a complex and unstable
blood constituent known as complement, which will not
work unless it is activated by a specific antibody; the
process of phagocytosis is greatly facilitated when the
particles to be engulfed are coated by a specific antibody
directed against them.

What are antibodies?

Options:

1) Minerals in the cells
2) Proteins

3) Synthesized proteins
4) Dead cells



Correct Answer: Synthesized proteins
Candidate Answer: Synthesized proteins

Question 98.A passage is given with 5 questions following
it. Read the passage carefully and choose the best answer
to each question out of the four alternatives and click the
button corresponding to it.

The antigen-antibody immunological reaction is used to
be regarded as typical of immunological responses.
Antibodies are proteins synthesized by specialized cells
called plasma cells, which are formed by lymphocytes
(cells from the lymph system) when an antigen, a
substance foreign to an organism's body, comes in
contact with lymphocytes. Two important manifestations
of antigen-antibody immunity are lysis, the rapid physical
rupture of antigenic cells and the liberation of their
contents into the surrounding medium, and phagocytosis,
a process in which antigenic particles are engulfed by and
very often digested by macrophages and polymorphs. The
process of lysis is executed by a complex and unstable
blood constituent known as complement, which will not
work unless it is activated by a specific antibody; the
process of phagocytosis is greatly facilitated when the
particles to be engulfed are coated by a specific antibody
directed against them.

What happens when an antigen comes in contact with
lymphocytes?



Options:

1) Antibodies are destroyed
2) Plasma cells are formed
3) Proteins are synthesized
4) Old cells are restored

Correct Answer: Plasma cells are formed
Candidate Answer: Proteins are synthesized

Question 99.A passage is given with 5 questions following
it. Read the passage carefully and choose the best answer
to each question out of the four alternatives and click the
button corresponding to it.

The antigen-antibody immunological reaction is used to
be regarded as typical of immunological responses.
Antibodies are proteins synthesized by specialized cells
called plasma cells, which are formed by lymphocytes
(cells from the lymph system) when an antigen, a
substance foreign to an organism's body, comes in
contact with lymphocytes. Two important manifestations
of antigen-antibody immunity are lysis, the rapid physical
rupture of antigenic cells and the liberation of their
contents into the surrounding medium, and phagocytosis,
a process in which antigenic particles are engulfed by and
very often digested by macrophages and polymorphs. The
process of lysis is executed by a complex and unstable
blood constituent known as complement, which will not
work unless it is activated by a specific antibody; the
process of phagocytosis is greatly facilitated when the



particles to be engulfed are coated by a specific antibody
directed against them.

Which of the following statement is true in the context of
the essay?

Options:

1) Antigen-antibody is a psychological process

2) Lysis is a process of forming plasma cells

3) Complement is a blood constituent

4) Antigen is part of the organism's body

Correct Answer: Complement is a blood constituent
Candidate Answer: Complement is a blood constituent

Question 100.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

The antigen-antibody immunological reaction is used to
be regarded as typical of immunological responses.
Antibodies are proteins synthesized by specialized cells
called plasma cells, which are formed by lymphocytes
(cells from the lymph system) when an antigen, a
substance foreign to an organism's body, comes in
contact with lymphocytes. Two important manifestations
of antigen-antibody immunity are lysis, the rapid physical
rupture of antigenic cells and the liberation of their
contents into the surrounding medium, and phagocytosis,
a process in which antigenic particles are engulfed by and



very often digested by macrophages and polymorphs. The
process of lysis is executed by a complex and unstable
blood constituent known as complement, which will not
work unless it is activated by a specific antibody; the
process of phagocytosis is greatly facilitated when the
particles to be engulfed are coated by a specific antibody
directed against them.

Phagocytosis is a process in which antigenic particles are
_____by and very often digested by macrophages and
polymorphs.

Options:

1) attacked
2) attracted
3) enveloped
4) engulfed

Correct Answer: engulfed
Candidate Answer: engulfed



